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Q4. A.

Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

English version is considered to be Authentic.

Answer the following Questions
Explain why electrical form of energy is superior to any other form of energy.
Explain on basis of principal of Electro — mechanical of energy& define
following
(a) piezo —electricity (b) Force on a conductor (c¢) Force acting on an iron piece
(d) Magnetostriction.

OR
A 50 cm long conductor is moving in the perpendicular direction of 1.2 wb/m2
flux density .if 20 A of current passes through conductor find the force
produced on conductor.
Draw with neat sketch d.c .machine & explain its various parts in detail.

Define following with respect to armature winding:
(a) pole —pitch (b) coil span or coil pitch (c) front pitch (d) commutator
pitch (e) back pitch (f) Resultant pitch. (g) full coil pitch.
Derive e.m.f equation of D.C. generator.
A four pole wave wound D.C. generator having 792 conductor and a flux per
pole is 0.012 wb . Armature is running on no-load to produce 240 V . Find
how much speed is required?

OR
Explain with neat diagram load characteristics of d.c. shunt generator.
Derive condition for maximum efficiency of D.C. generator.
What is back emf of D.C. motor? Explain in detail the role of back emf to
control starting current of motor.

OR
Explain with neat diagram 3-point starter used to start D.C. shunt motor.

Explain comparison between core & shell type transformer.
Explain with neat diagram O.C. test & S.C. test to find efficiency of
transformer.

OR
A 50 KVA 6360/240-V 1-phase transformer gives following readings on OC &
SC test. If transformer is working on 0.8 power factor lagging find Full load
efficiency & voltage regulation.
O.C. Test : 6360-V, 1A, 2 KW (HV side)
S.C.-Test : 50-V,175A ,2KW (LV side)
Draw & explain vector diagram of 1-® transformer for leading power factor
load.
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Show the connection diagram for the following in case of 3-® transformer
Star —star & Delta —star connection
State the conditions for parallel operation of two 1-® transformer.
Derive the condition for maximum efficiency of 1-® transformer.

OR
Explain comparison of three 1-® transformer and a 3-® transformer.
Comparison between ordinary Transformer & auto-transformer.

Application of auto-transformer.
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